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Problem 5.17
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For copper, B = 5(3.84 x 10" N/m?) = |6.4 x 1010 N/n]2.|

Problem 5.18
(a) Equations 5.59 and 5.63 = ¢ = Asinkz + Beoskr;  Asinka = [ — coska|B. So
Asinka A .
b= Asinkz + — o coskt = |1
# s (etFa — coska) it (eifa — cos ka) [
Aet’Ka

etNe —coska’

sin ka — sin kax cos ka + cos kx sin k:a]
= C{sinka +e " sinfk(a — x)]}, where C' =

(b) If = = ka = jnm, then sinka = 0, Eq. 5.64 = cosKa = coska = (1) = sinKa = 0, so ¢'f* =
- cosKa+isinKa = (—1)7, and the constant C' involves division by zero. In this case we must go back to
Eq. 5.63, which is a tautology (0=0) yielding no constraint on A or B, Eq. 5.61 holds automatically, and

Eq. 5.62 gives
KA - (~1Yk [A(-1Y — 0] = 2?;“3 B=0. So

Here ¢ is zero at each delta spike, so the wave function never “feels” the potential at all.
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